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Question 1
Question Type: MultipleChoice

A user wants to try the desktop cloud but has not formally purchased a commercial license, so there is no need to build a license server.

Use the default

Recognized license

can.

Options: 
A- Yes

B- Wrong

Answer: 
B

Question 2
Question Type: MultipleChoice



During the process of provisioning virtual machines from the ITA interface, due to the active and standby deployment of ITA

components, any ITA server is

start,

Does not affect business release

Options: 
A- Yes

B- Wrong

Answer: 
A

Question 3
Question Type: MultipleChoice

In the R6 version, what is correct about the virtual machine, the basic component of the desktop cloud? (Multiple choice)



Options: 
A- Install AD/DNS/DHCP in a Windows-based virtual machine

B- DNS must be deployed in a Windows-based virtual machine

C- Except for AD/DNS/DHCP, other components are deployed in the same linux virtual machine

D- vAG and vLB can be deployed together

Answer: 
A, D

Question 4
Question Type: MultipleChoice

Which of the following are included in the desktop cloud system compatibility? (Multiple choice)

Options: 
A- Software compatibility



B- Peripheral compatibility

C- Forward compatibility

D- Backward compatibility

Answer: 
A, B

Question 5
Question Type: MultipleChoice

Which statement about the provision of virtual machines in the Huawei desktop cloud is correct? (Multiple choice)

Options: 
A- The two modes of complete copying and fast packaging are completely the same for end users.

B- The full copy and quick package template can be modified up to 3 times

C- Linked clone type virtual machine is suitable for occasions where users do not need too much personalized data, such as meeting

rooms



D- In single-user mode, the virtual machine assigned to user A can be deallocated and re-allocated to user B

Answer: 
A, C, D

Question 6
Question Type: MultipleChoice

After major operations are performed on FusionAccess, the system may be abnormal. At this time, it needs to be rolled back and

restored.

turn off

Yu retreats and resumes

Is the law correct?
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Options: 



A- It is preferred to use periodic backup data to restore, because the data is used normally when backed up.

B- Restore all component data in the order of installation and deployment of FusionAccess

C- View the alarm, determine the failure time of the alarm component, and select the closest backup file before the failure time to restore

D- Start the recovery directly after confirming the recovery of the data

Answer: 
C

Question 7
Question Type: MultipleChoice

Which of the following components is not part of FusionAccess?

Options: 
A- ITA

B- HDC

C- WI



D- VRM

Answer: 
D

Question 8
Question Type: MultipleChoice

In the Huawei desktop cloud solution, SVN includes vLB and vAG functions.

Options: 
A- Yes

B- Wrong

Answer: 
A



Question 9
Question Type: MultipleChoice

When building an ITA server, you need to configure two network cards. The reason is that one network card needs to communicate with

other desktop components.

One

The network card needs to be connected to the table

Face virtual machine communication

Options: 
A- Yes

B- Wrong

Answer: 
B

Question 10



Question Type: MultipleChoice

What are the correct operations during the desktop cloud installation process?

Options: 
A- Create a corresponding port group for the business network

B- Need to separately create data storage for the basic component virtual machine

C- Basic component virtual machines and user desktop virtual machines compete fairly for resources

D- Set two ITA virtual machines as mutually exclusive virtual machines

Answer: 
A, B, D

Question 11
Question Type: MultipleChoice

When the administrator creates a linked clone desktop, he hopes that the desktop that the user logs in is the same every time, so which

one should he choose?



Pooled desktop

Options: 
A- Dynamic Pool

B- Static pool

C- Exclusive pool

D- Single user pool

Answer: 
B

Question 12
Question Type: MultipleChoice

Company A hopes to deploy a set of desktop virtualization with a low investment, requiring every user to use the same desktop without a

personalized desktop

surface,



No personalized number

According to reports, a single desktop has lower requirements for IOPS, and subsequent management, operation and maintenance are

simple, and the company's requirements should be more in line with:
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Options: 
A- Copy the desktop completely

B- Link clone desktop

C- Full memory desktop D. HD graphics desktop

Answer: 
B
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